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dau ngodc
Tén: Ngay thang: _ Diém: _
2,4%4=2+4(4,6-3) = A2yt
4 3 3
9(4,3+2,6)+3%x2-2,6= S st Lo
5 2 6
1 1 2 1
20+4+5(= +4,6) = 10(=+2)+2x5-—=
5,9 x20 5(2 ,0) O(4 3) X5 c
1—3(54—47)— 22—2(47—1)—
2 9 ’ b > 2
(3,3+2,8)x5—-2,8= 5,8+4(4,3+4,8)=
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Ottt dau ngodc

Tén: Ngay thang: _ Diém:_
2,4><4+2+4(4,6—3)=55—6=11% (%—%)M—%:(—z)
9(4,3+2,6)+3><2—2,6=1—§4-=38§ §+5(%+é)=%: %
5,9><20+4+5(%+4,6)=55 10(%+§)+2x5—é=94—1=22%
$-35.4-4T) = ()= (13) 2,2-20,7- 3) = (-3 = (-63)
(3,3+2,8)><5—2,8=2%=27% 5,8+4(4,3+4,8)=25£=42%

www.snowmath.com


https://www.snowmath.com

